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Mixed numper Lol

VAR EERS L ox 7 =% 36 26+ b
5x 3 =19 Gx b 3 Ay t2- T
2 x 9 = b 7 x 3= 2 20 £3= 7
2 x 9= 27 o x 9 = 90 50:9: 7
5 x | » 55 4 x 9 = 8l 2,21 6
¢ x g = k¥ 7 x 9. 63 sm5is- 7
L x 9 = 36 S x €- 6L 78 <7: 10
3L 8 Z 2 6 77 2 3L ]9
- 197 % - i 9 58 +276 3
' 5 o L L 625 2
2359 kL 2 1 95 36 2 3
X / -1 18 ¢ X &
2¢c 2 5 8 | L & 9 217 ¢ 8§
9 9 2 22 L L | Ik 5 ri




Multiplication Practice — 2 Digits x 2 Digits Answers

2 3, 4
306 4| 6 116 11 4
X 3 2 X 3 3 X 3 3 X 213
7| 2 11318 4| 8 4l 2
1 1 1 1
11ols8']o 113]s8'lo 4| 8'lo 21810
1 1 1
11152 11518 50128 3|22
1 1
5, 6 7 8
215 3|5 3|4 4] 3
X 3 6 X 5 6 X 2 3 X 313
11510 > 1110 11012 112109
3 3 1
7157 0 117157 o 618'lo 1121910
900 1194 6|0 71812 1lal1]o9
1 1
9. 10. 1. 12.
4| 2 4| 6 512 312
X 2 5 X 1 6 X 2 6 X 5 2
> 1110 21716 30112 6| 4
1 2 3 1
sla'lo 4% 67 o 11ol4'lo 116lolo
3
11lolslo 7’13 | 6 11352 11664
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NUMBER BONDS TO 500 Name

Set A Set B
2ol | + 196 = 500 s | + 470 = 500
2o | + 470 = 500 si¢ | + 182 = 500
o | + 360 = 500 L21 |+ 79 = 500
237 | + 263 = 500 LG |+ 434 = 500
202 | + 138 = 500 353 + 147 = 500
q. | + 404 = 500 o | + 340 = 500
L7% | + 22 = 500 235 | + 265 = 500
216 |+ 284 = 500 2gn | + 116 = 500
Le3 |+ 37 = 500 210 | + 190 = 500
L3 |+ 69 = 500 W% | + 232 = 500
Set C Set D |
Lu7| + 53 = 500 g |+ 252 = 500
3 | + 461 = 500 29 | + 288 = 500
Lao |+ 10 = 500 73 | + 327 = 500
qo | + 410 = 500 LY | + 72 = 500
224 | + 272 = 500 Ll |t 456 = 500
59 |+ 473 = 500 2q0| + 110 = 500
- |+ 495 = 500 5y¢ | + 172 = 500
2e% | + 212 = 500 g |+ 251 = 500
205| + 195 = 500 | |225]+ 275 = 500
96| + 314 = 500 L3 |+ 87 = 500

Developed by Mark Cogan at www.primarggames.co.uk



Missing Numbers 4

Fill in the missing numbers on the number lines.

Name
I I | I I
® 8150 315l 3152 3153 215
I I I I l
@ 146 | i8¢ 2 1863 1864 1865
@ I | | I |
4557 L55E LS54 4560 LSél
@ | I I I I
7ol 7015 Tolb 7017 /018
@ | I | | l
6836 6437 68383 6%39 68 1O
I I I | [
@ 89 |1 8912 8913 841l 2915
@ I | I I I
9277 4 Q275 | |a27¢ Q277 G278

Developed by Mark Cogan at www.prlmarggames.co.uk




Order the wambere. heast -» greatest.

1. 26
7.1

7.8

7.2

5.8

0.3

. 5.9
5+] 3.1
5 4.4
y 3.5
f; 7.6
L 4.6
7. 48
8.6

© 5.9
a9
i 9.9
g 2.3
10. 1.7

: 1.2
o i 4
2 4.2
7 8.1
-7 6.7

4\‘\\0“../\).\)

2.

4.2
9.1
2.8
7.3
5.8
8.3

oY

3.4
6.4
2.3
8.1

5.6
5.3
8.1
7.2
2.5
2.3

- 8.3

2.9
8.5
4.7
5.6
2.3

2-3

L2

53
73
q.-1

13

-3

6.

NS
Ik
i T
L

79
)

|
(VA
21

S

S8

12.

ch

31
5
15
&7
87

7.5 1y
8.6 13
2.3 2%
7.6 13
2.8 1t
14 %¢

4.7
8.2
4.9
7.9
1.6
5.7

2.5
5.8
2.6
1.1
2.4
1.2

3.7
3.1
8.7
8.7
6.5
7.5
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Multiplying and dividing by
10 and 100 (5¢)

Name

in Ef)r‘_':,} out

in A 835 903 3846 | 92 1828

out 640 %}‘SO 7030 38460 220 14280
in = @ > out

out 100 33 00 129900 {100 3800 00
in l:,'>l:> out

in | 8515 | 1225 | 2924 416 43 6384

out | 85.15 | ip 75 | 2824 | w16 083 | 638k
'Lh IZ>L—_?> out

in | qion | 996 | 6306 | 169 | 494 3

out | 910.4 | 44-6 | 630.6 | -9 899 | O

Developed by Mark Cogan at www.primarggames.co.uk




Group 3 problem solving

1. 36 children eat school dinners and
each child is given 15 chips. How
many chips need to be cooked?

5L0

2. Pete had £18.72. He spent £4.42
on pens and £7.48 on paper. How
much did he have left?

2682

3. APlay station game cost £30.
There was 20% off in a sale.
What was the price of the game?

N

4. A car travels at 37 miles per
hour. How many miles will it travel
in 12 hours?

Lk b

5. 7320 pencils are shared between
5 classes. How many pencils does
each class receive?

AN

6. 348 people go to a concert. Each
ticket costs £9. How much money
was collected altogether?

£3i32




Whole numbers — ordering numbers to 9999

Ascending means going up. When : Descending means going down.

we put numbers in ascending order | When we put numbers in descending
it means we put them in order . order it means we put them in order
smallest to largest. largest to smallest.

For example: } 1298 For example:

236

67

Y : )

@ Write the numbers which come before and after the given number:

a| 0972 1093 | {09 L b | 652% |6529| 6530

@ Circle the smallest number and underline the largest number in each group:

a 837 542 b 999 (909) 929
¢ (1024) 3852 7203 d 5469 5117

9 Re-write the following sets of numbers in ascending order:

a 3203 2033 2303 2033, 2303, 3203

b 6660 6066 6606 6066, 6LO06, (660

a Re-write the following sets of numbers in descending order:

a 4156 4651 4561 LbSIH, LS61, 1L 156

b 7891 7981 7356 79%1 7849) 7356

e Look closely at the grid and fill in the missing spaces with the correct numbers.

a [515(516 b 863|864 |%:5| c | 986 | 957 | 988
525 526 (527 | s2% 873 | g7 |€7S 796 | 991 |99y
537 | 538 539|540 883 | @84 [ 485 1006 |to007 | (oo ¥

549 | 550

Whole Numbers and Place Value

T )
3) X

SERIES TOPIC
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Whole numbers - create and compare numbers

When we compare numbers we use these symbols:
This symbol means is greater (more) than. This symbol means is less than.
> 0 <
ala) B (oY a) sl
Bo ® ol s B0
124 is greater than 92 5 is less than 54
124 is > 92 5is<54
\. J

@ Use the correct >, < or = symbol:

a 203 7| 172 b 3033 | — | 3033 c 572 | | 615
d 5690 | > | 5688 e 909 > | 901 f 9009 < 9090

e Put a number in the box so the statement is true:

a 45 < b 564 <

c 7895 < d 9984 <

@ Use the correct > or < symbol to make the number sentences true:

a15|> |14 < |16 b 98 < | 1005 | | 2010

c 17| < |18| |21 d 7586 | 7 | 528 |7 | 29

Whole Numbers and Place Value

Copyright © 3P Learning
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Measuring time — time relationships

Connect these time facts:
1 minute 24-hours 1 year 10 years
1 hour 365 days 1 fortnight 100 years
1day 60 seconds 1 decade 12 months
1 year 60 minutes 1 century 14 days

7~

@ How many minutes are there in the following hours?

1 - .
a 2hours = 120 minutes b 7z hour = 15 minutes
1 h . d 3 h _ .

¢ 35 hour = 20 minutes g hour = L5 minutes

e 4 hours = 2L0 minutes f 6hours = 360 minutes
.................................................................................................. | need to remember to

H d b s th s Eallowd ; 5 change hours to minutes first.
@ ow many seconds are there in the following times? R T ————

UO
a 2 minutes = | 20 seconds b 5minutes = 300 seconds ~Q
1
¢ lhour = 3660 | seconds d 5 hour = (K00 seconds
3 minute = £ 7h - d
e 3 minute = 30 seconds 2 hour = qoou seconds
THINK

e Use the information in the top box to work out these time facts:

a ldecade = 120 months b 1century = e years

. 1
¢ 2fortnights = 28 days d 3 century = 50 years
e 1week = 16§ hours f 2years = 730 |days

0 What time unit would you use to measure each of the following?

Time to hard boil an egg mnubesS

One millennium

One leap year | | dacjs (U )

Length of a football match minu t65

Time .

Copyright © 3P Learning
SERIES TOPIC
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Measuring time — reading analogue clocks

%i% Draw a line from each clock to its matching time in words:

quarter to 8

\ half past 2

25 minutesto 5°

25 minutes past 3

d 12 _minutes pasl' 5

Time

Copyright © 3P Learning

SERIES TOPIC



Measuring time — am and pm notation

Ve

We use am and pm with digital time.
am —> The part of the day between 12 midnight and 12 noon.

pm —> The part of the day between 12 noon and 12 midnight.

s

¥ |
T e———

p—

4

morning afternoon evening morning

a| 4:00am LN :25pin 9T I3 aim

quarter past 5
in the evening

11:10 am

Time

Copyright © 3P Learning
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Measuring time — 24-hour time

fM e

Time is can be measured using 12-hour time, using am or pm,
or 24-hour time. This clock shows 24-hour time on the grey
outside ring.

5:00 pm = 17:00

Write the digital time for each clock face.

Convert these 24-hour times to digit times.

a 16:15 = b 15 pm b 1043 =| 10 -L3am ¢ 0134 = i 3lam

Time

Copyright © 3P Learning
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Written methods — short multiplication

@ Below are Jess and Harry’s tests. Check them and give them a mark out of 5. If they made mistakes,
give them some feedback as to where they went wrong.

1 1 9 1 1 9
X 7 X 7
7 7 3 8 3 3
O O N Tl v
2 2 0 3 3 2 0 3
X 3 X 3
6 6 0 9 9 6 9
N / T T I X
4 3 6 4 3 6
X 3 X 3
1 2 0 8 1 3 0 8
T O O X [ FY I FY /
4 0 1 1 4 0 1
X 7 X 7
2 8 0 7 / 7 2 8 7
T O ‘ T I X
4 ) 4
S

Multiplication and Division

Copyright © 3P Learning
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Written methods — short division

Yy
In short division, we use our knowledge of multiplication to help us. We can split 936 into 900 + 30 + 6.
: : 900 divided by 3 is 300, so we put a 3 in the hundreds place.
3 1 “ 30 divided by 3 is 10, so we put a 1 in the tens place.
5 | 4 3 : 6 6 divided by 3 is 2, so we put a 2 in the ones place.
936 + 3= 312
@ Divide these numbers:
2\ %:
a 4 l g i 4 b 5 ¢ 3 I 9 i3
i il 0 P20\ Vi)
d9~990 e4|4:8:4 fs‘sss
3:3:3 2.8 3¢ 2:i3:]
g3l999 h2|4§62 |3|693
é . ., . . . A In these problems, if there
Sometimes it’s easier to split the numbers differently. We can also A ——
split 936 into 900 + 36. put a 0 in to show this and

also to hold the place of
the other numbers!

900 divided by 3 is 300 so we put a 3 in the
hundreds place

36 divided by 3 is 12. We put the 1 in the tens
place and the 2 in the ones place.

936 + 3 = 312

e Decide how you’ll split these numbers and then divide. Remember
to put in zeros as needed.

\02) 27_3

a5|5§1§5 b3|6§6§9

Multiplication and Division
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Written methods — short division

Sometimes a number doesn’t easily split and we have to use a different method to solve a division.
Look at 830 divided by 5. We start with the largest place value.
8 hundreds divided by 5 is 100. There is 300 left over, which we rename
: { and carry over to the tens column. 33 tens divided by 5 is 6 with 3 left
!i' li' over. We rename and carry these 3 tens to the ones. 30 divided by 5 is

: 6 exactly.

So 830 + 5 = 166

| P2 3 173 2034
‘ RN . RN l N
a &6 7 + 3 : 8 b 5 8 6§5 C 3 7 052
21316 L9 1i0ie
I RN l RN l ||
d49§44 e 8|7 4 : 4 f 9 ]9 :5: 4
6%k 2i 31617 85 L 19
l i1 ILIDj_I | N
g 7 |4:7:8:38 h 9:i4:i6:8 i 3 P60 :7
(P03 | P2 i3l 5: 89
’ {1 L i l | | LT
] 6 6 2 1 : 6 k 8 9 82712 Il 5 2 9 4 : §

Solve these problems:

a Four friends find £936 in the street. They take it to the police but no-one claims

it and the money is eventually returned to them to keep. If they share it fairly g Vi 3 [/-

between themselves, how much do they get each?

b A carpenter has a piece of timber 1,878 mm long. He needs to split it into 6 equal

pieces. How long should each piece be?

Multiplication and Division
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Written methods — division with remainders

— o T ™
3
Sometimes numbers don’t divide evenly. The amount left over is called the remainder.
Look at 527 divided by 5.
1 0 5 frz 500 divided by 5 is 100.
—t 27 divided by 5 is 5 with 2 left over (this is the remainder).
3 [ 3 2 ? § This can be written as r 2.
527 + 5 = 105r2.
\ J
Divide these 2-digit numbers. Each problem will have a remainder.
g3 i) ir3 o062
1 o |
a 9 7 i 5 b 4 4 : 7 c 6 3 : B}
| i2 "3 pE A" | | ip i" 2
i L u
d 5 6 : 3 e 4 4 9 f 6 6 : 2
@ Divide these 3-digit numbers. Each problem will have a remainder.
RS RS 2: 2: Oir | i 2i0 ir |
N I N |
a 5|5 :5:7 b 3 6 : 6 : 1 c 4 4 : 8 1
[ilioitb [:1:86:7ir > 2iZiLi0iIrD
I L1111 NN
d 91 9 : 9 : 4 e 6 [ 6:9:4:5 f 8 :9:6;3
@ Solve these problems:
a Giovanni’s Nan has given him a bag of gold coins to share among him and his two sisters.
There are 47 gold coins altogether. How many does each child get if they’re shared evenly? N]
How would you suggest they deal with the remainder?
b You have 59 jelly beans to add to party bags. Each bag gets five jelly beans. How many full i), I

party bags can you make?

32 Multiplication and Division
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